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The verse states; ‘he shall redeem him’ - ORI RP AN

Overview

We can maintain the w"1 of 7°ow 70w, and nevertheless maintain that a YXw°% 1571
is not 179X2 YR (by relatives), since there is the exclusion of 13983, that only a 1272
"3217 is 11782 PR3, but not a PRW°? 75n1. Our NMvdIN explores whether we could have
maintained that a 7"2 71797 is 79X PR3, if there would be no exclusion of 1198»
(and without the "1 of 0w DW).

mooIn asks:
= 190NN NN RVIYIN 190375 INDT PNYT NPT INNY 9INMD 13929 290 NYPN

2°8% 2'"17 asked; according to what we originally assumed, where we did not yet

know the exclusion of 13983 (which excludes a 5%%°% 7911 from being 77832 X3) -
= PN DRI 919 2197 522 9019919Y 999N P 9209 KD 2INNN

Why cannot we derive that a 7'>2 ¥775% should be 7982 “xa1 through the
following "' -
- TN UN)) WA TN IIRY 022913 72190 99903 I

And what if one who is not freed after six years is nevertheless 7782 X3, so -
= YN INIIY 127 9ON WY KNIV 1T 52901991

A 7""52 371127 who is w3 X3 should certainly be 77982 YR, How can °27 state in his
1"p that 7"2 371797 is not X2 K¥?!

MO0IN answers:
= YN NN RYY 1Y 023995 TAIYY 991237 N1 799919 NIINT XM

And X1 "7 answered that it is possible to refute this 1"p, saying, you know why

a @'""1opY "on1 is 79N1 R¥ because he goes free with the death of the master (the
»321% 19117 72 does not serve the heirs of his master) -

! A marginal not amends this to read; 129X3>7 X0 X1 1°V7 X7 (instead of 13983 X7 RO YT K97).

2 The X3 attempted to prove that *27 is 792w 5w 72> X%, for otherwise (if he is 5w 72w 7°%°) how can he say that a
ORI 7011 (meaning a 7"°2 371707 [see previous XX 717 '010]) is not 7782 981 (we should derive that a 7"°2 3711707 is
7782 PRA from 7°5w °ow). Our NdOIN is asking even if *27 is 2w 5w 7°9° R, nevertheless a 7"°2 ¥11101 should be
282 PR32 on account of the following 1"p. There is therefore no proof that 27 is 5w 72w 7°%° X7 for in any event
(whether he derives 772w 7°5W or not), his statement of 7782 HR31 11X is not understood. NN question here parallels
a similar question in the previous *®»& 1"7 '01n [TIE footnote # 5]. The question there is from '»wn °37, the question
here is from the 1"p.

3 See previous 8»X 71"7 'o1n [TIE footnote # 6] that the 1"p of *27 (in the X"7) is from 7"2 31737 (but not from 731
MXY).

4 See the X » later (on 3,7) for the source of the various (following) laws (that a 2"19v% 7211 is 17X N2 XYY, an 3"y
ORWH 7937 s 127 DX 72w, and an 712V MK 1S D37 DR RDY 137 DR RD 072w O0X). See ‘Thinking it over’ # 2.
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- PINA DN R 1IRY INIYIY 99123 9NN NN INIPY NN 197 199

And therefore (since a 1212 7511 is NIRT NN R¥Y) it is justifiable that he is also

7982 YRA1, can you say that regarding a HXaw>% 2521 who does not go free nnna
NN -

= PN UNX NRDYW NI 17 7999 12N NN 12y 99NV

For a %X w5 1om1 serves the master’s son (if his six years are not up yet), so

therefore it is justifiable that he is should not be 57982 YXx1. This 1"p is (seemingly)
refuted.

mooIn pursues this question (again):
= ©52919 721D 991957 591210 DD INNN 991D 19981 N9 NNN NNT NYP DIPN o1

But there is a difficulty nonetheless, because we can derive that an 77592p77 728

should be 779%2 9831 through this same 1" from a »21% 2221 -

= NAN NN XY 12N NX XD NTAY NN INY
Since an 77°72Y7 72X does not serve neither the son nor the daughter of her deceased
master, therefore we cannot refute this 1"p by 172y 7K in the manner we refuted the 1"'p by 72y

"2y, so once we establish (through this 1"p) that an 7°72¥57 7K is 7982 NYRA -
= 1199290 A7 SNWIPNN INIYIY 991931 293y Tay 9D 91

So then we will derive that an Xw>% 95m17 »"p is also 17782 HX21 through the

wpor of 179928% 912Y; the question remains how can *27 state (in his 1"p) that a x> 1201 is
not 77X Px11?!

MooIN offers an alternate solution:
= TNI DNII 193 INIYOIT 95337 NIMINR MN NINIP NI ONT NN (1)PNYS 297 1959979

And our teacher "7 answered, that indeed without 19X we would have

assumed that a PR 2221 is also 77982 X231 (as the question assumed, on account of the
1"P) -
= 9N INII 1INV 9 N9 7YY 99
And this is the explanation of what °27 said, '77R2 PR32 19K % 72Y' -
= 3YWa NI NHNA HNIW NN NP 29N NDT WIY9

The meaning of the words 17782 PR3 KXW (is not that a X W% 7571 is actually not

5 DR NORAW PTIPR WWA IREW 7727 70K ,TIRD DRI WA RYP PR 7317 7001 0,

¢ The oD states (22,0 [%7] 2°727) that 7°72v7 1R 2v7 AR 72 152° °3, comparing an ¥"Y to an 7°72V7 72X,

7 We are now assuming that a YXw>% 7211 is 7982 7831 (on account of the 1"p), how can 27 state 79X 2X31 11RW?

8 This answer is valid concerning a 1"p because a 1"p is not considered the same as if it was written in the 7710, therefore
"2 can say 77X2 PR3 11K (even though he is 719%2 X3), since it is not considered 77n2 72102, However, if *27 maintains
the w"m of 970w °5w, he cannot say that a X7 1011 is not written explicitly in the 710, for something which is
derived through a w"m (which 1277 192p 2"KKX M¥Y7 77 Q78 PR) is considered as if it is 77IN2 72102; as opposed to
something which is derived (merely) through a 1"p (which an 07X is m¥y» 77). See R"wIn.
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782 PXa1 [for that is not true], but rather it means) that it does not state explicitly

in the P10 that a X7 1on1 is 1282 Y8315 and nevertheless he is wwa Y83, so -
= YWY INIY 17190 NN HNINIYW NIPA NITNA 29157 ©2910 T2I¥Y 9919)

A 1215 201 where it states explicitly in the P15 that he is 7R3 HXx1, isn’t it
justifiable that he should certainly be wwa »x».°

mooin offers proof for this conjecture (that being explicit in the 2109 is grounds to derive a1"p from
something which is not explicit, even though the rule is the same):
= 9139930 YPAT (3,n0 97 xyrwn x33) DITYIDN NN 19IYN P93 1399IN 123 99

And this also what >»X "1 stated in 2921577 nX 22927 P15, where the X723 wants to
say -

= DINNI 99N Y1 1992IN193 199N YN NI4T
That we can derive through a "' from a person, that an ox can eat even from

produce attached to the ground (while working [e.g. plowing]) -
= 929N YINY 177 13X WITNA YIINY Y 19290193 DN WIINA DIIN 1INV DTN N1

And what if by a person who cannot eat from detached produce (while he is
working) can eat from 221, so an ox who eats wy»n2 should certainly be
permitted to eat 931%2; this concludes the 1"p -

- 2y1990a N YINY N)D HANY 29 ¥ N YITND YN 1ORY DINN 1IN Y 192y NN
It is evident that *»X '1 makes a 1" from a person who does not eat 1»n3; even
though that truthfully a person (who is working with food) eats also ®¥»n2 (not

only 121122), so how can R '3 state w1702 221X 1XYW QTR 712!
= YIVNA DOIN DTNV NP NYTNA 29N DT WITNA HIIN 1INV VIV 991 NON

But rather this is the explanation of @19n2 921X 119X that it is not written explicitly

in the P05 that a person eats w»n3, that is sufficient grounds to make a 1"p that a ",
whose eating ¥17n2 is explicit, should surely eat 22112.

:NIN NOVIY9T7D
As 1 explained here, that if the 7m0 writes a rule explicitly in one case, that is grounds to
consider it a 8%, so that we can utilize a 1"'p to derive a rule from a case where it is not written
explicitly.

% This is only in the X" before we knew of 119%, however once we know the exclusion of 179x3° that only a 3317 7372
is 11782 2R3, but not a PR 1311, then the meaning of 7782 X1 PR is be understood literally.

19 An ox can eat from detached produce while working for that is stated explicitly in the 7™ (in 7,72 [XXn] °727) that
172 W 2Y0nn XY (threshing is with harvested [cut] grain)

! The 7 writes explicitly that a person can eat 12173 (in 1-713,30 [X¥N] ©°7127) where it states N8 T¥7 07132 Ran
31 7772 NPHR NHVLPY YN NP RaN 2 A1 YA w1 0vaav.

12 The X713 there derives it from the P09 of 77 _nR ¥ "3 7Y NARA Xan *3, the fact that it says an extra time nap (which
actually refers to 1211) teaches us that he can eat w12n3 as well.
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Summary
When °21 stated that a X729 7571 is not 7982 YR he meant (not that it is not actually

982 X33, but rather) that the 770 does not state so explicitly (as it does by a 7n3
"217). A case where the 77N states a rule explicitly is considered to be more 2am
than another case where the law is merely derived but not stated explicitly, as is
evident here by 7%&2 831 and by w1502 70K,

Thinking it over
1. Why did not n»oin refute the 1"'p (from 131% 1911), by saying, only an >721% 1571

can be 179X2 9X31 in order 0°1217 12 ¥y Xow,'4 but not a PRI 01?113

2. noon refutes the 1"'p from 1217 7311 (by saying that he is 11787 nna R¥1);'¢ How
then can we derive that a PX2°7 1211 is 71782 KXY from a *731% 7571 (through the "
of 173w 77w), we can refute'” the w"m by saying that a 7319 7011 is 717X NN KXY,
but not a X% 151 (the same way mooIn refutes the 1"p)?!18

13 Before we were aware of the My of 1198, a PXw°» 7911 would be 79X2 X3 on account of the 1"p that nwOIN
mentioned.

14 See previous *Xnx 71"7 'o1n [TIE footnote # 14]. There where we wanted to refute a w"13 by this X279, so 'o1n said
that a X720 which is not written in the 73710 is not sufficient to refute a w"ix. However here where we wish to refute a
1"p, why should this X720 of ¥nv> X5w not be sufficient to refute the 1'p?!

15 See o1 NMAYY.

16 See footnote # 4.

17 We know we can refute a "1 from the X3 on X,10 (regarding X1O°R 72v7 2w 7°03p°% [mentioned in the previous
*RnR 17"7 '0n (TIE footnote # 8)]).

18 See R"wnn.

4
TosfosInEnglish.com



